Pairs Adding to 5

(J Write the missing numbers.

3

+

2

fingers up fingers down

finger up

V'
G
&

_I_

+

_|_

finger down

fingers down

fingers up fingers down
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= 5
altogether

= 5
altogether

= 5
altogether

= 5
altogether

65

7/25/117 3:01:09 PM



3 + 2 = 5

fingers fingers altogether
up not up

(J Hold up the correct number of fingers.
How many are not up?

l+| |=5 44| |=5
2 5
+ + | + 3 +
5 5 5 5
5— 1= 5-2=
=5-3 5-5=
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Addition Facts

() Add by remembering.
2+3=__ l+2=_
b+l=_ 24+1=__
l+1=_ 342=_
3+3=__ | +4=_
|+3=__ 341=_
2+2=__ 4+ 4=__
% Bonus
5+5=___ 2+1+2=__
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Subtraction Facts

(] Subtract by remembering.

3-2=

68
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10 -5 =

Number Sense 1-77

5/17 3:01:10 PM



Using 5 to Add

(] Circle the two numbers that make 5.

OOK | 3 4 2 3

(] Circle the two numbers that make 5.
(] Write the number that is left over.

@+@+4=5+ 4

0 + 3 +5 =75 +

4 + 3 + 2 =5 +
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(] Circle the two numbers that make 5.
(JUse 5 to add.

(W)+(D+ 3

3

= |8

3+ 4 + 2

=5 +

4 + 3 + 2

3+ 2 + |
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3+ 4 + |

2 + 3 + 4 3+ 1+ 4
=5 + =5 +
2 + 4 + 3 34+ 1 42
=5 + =5 +
2 + 1 + 4 b+ 3 + |
=5 + =5 +
b+ 2+ | =

Number Sense 1-78
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Pairs Adding to 10

How many are unshaded? How many are shaded?
(JFill in the addition sentence.

8 +_2 =10 + =10
4+ =10 + =10
= +_ =10 + =10
4+ =10 + =10
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7 + 5 = 10
up not up altogether

(J Hold up the correct number of fingers.
How many are not up?

8 3 10
+ + + 9 +
10 10 10 10
=10 — 4 10 -5 =
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Using 10 to Add

(] Circle the two numbers that make 10.

(4) 5 (b) 3 7 9 | 8 9

(] Circle the two numbers that make 10.
(] Write the number that is left over.

@®+@)+ 5 =10 + [5
4+ 6 + 3 = 10 +
2 + 9 + 1 =10 +
6 + 7 + 4 = 10 +
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(] Circle the two numbers that make 10.
(J Use 10 to add.

@+r3+2) 2+7+3 1+8+9
= 3

10 + = 10 + = 10 +
3+ 7+ 4 4 + 5 4+ 6 5+5 4+ 6
= 10 + = 10 + = 10 +
q + 2 + | 3+ 2+ 8 4 + 5 4+ 5
= 10 + = |0 + = [0 +
8 + 4 + 2 7 + 3 + 9 6 + 4 + 8

=10 + =10 + =10 +
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Making 10 to Add

(J Use the group of 10 to help you add.

/ 5 8 6
WWW  WWIW WWW W W
ARG A WWWW W

7+5=10+_2 = I2 8+6=10+__ =__

g 7 8 8
W PR ke WWW Wy Wi
W /WY W W W W W
AR
9+7=10+_ = 8+8=10+__ =
7 6 4 8
WWW  WIDW ¢ DA K i
W o7 Y7 AN W W e
7+6=10+__ = 4+8=10+_ =__

_ Yu groups 10 in two ways. Are the answers the same?

3 q 3 9
PR W Ve W
NS PAGA A W W

PRI g AR

3+49=10+__ = 3+9=10+__ =
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(] Circle a group of 10.
(J Use 10 to add.

(73)-

4+7=10+_1 =_I

00
00 O
000
[
[

0
+
5D
Il
o
+
Il

7+7=10+__=__
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0 O
o0

8+6=10+

(N
(N
0 <O
o0

9+2=10+_ =

Draw the dots.
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Patterns in Adding

(] Colour the correct number of hearts.
(] Finish the addition sentence.

0

_I_

4

e A VAVAY.

coloured not coloured

+

e AYAVAY,

coloured not coloured

2

_|_

-« OOV

coloured not coloured

3

_I_

YA YAVAY,

coloured not coloured

4

_I_

-« OOV

coloured not coloured

As the number of ) goes up by |,

the number of ) goes
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() Complete the addition sentence.

50000 [+ [5-=0

oo [+0]-
DIvne [-+1-
DI Do [+ -
DI s [I+1]-
DIIIDID [+ -

Which number is the same every time?

As the Ist number goes up by |,

the 2nd number
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One More, One Less

SO

SO

SO

SO

SO

3+2=5 OO0 0O
4+2=_6 Q00O OO

7+3=10 OOO0O0O00O0O OO0
8 +3= QOO0OOOOO 00O
8+2=10 OOO0O0O00O0O00O OO
q+ 2= QOO0OOOOOO OO
6+4=10 0]0]0]0]0]0) OO00O
6+5= OOO0000O 00000
44+ 1=5 6+4=10

4 + 2 = so 7+ 4=

5+ 6 = 3+3=

Number Sense 1-83
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80

SO

SO

SO

SO

SO

SO

/7+3=10

7+2=_9

3+2=5

3+ 1=

6+ 4=10

5+ 4 =

4t+1=5

4+ 0=

5+5=10

4+ 5=

b+1=5

3+ 1=

O00O00O00O OO0
OO0O0O0O000O XOO

OO0 0O
OO0 XO

O00O000O 0000
OO0O0O00OX OO0O0O

O000 O
O000 ¥

2+3=5
SO 2+ 2=

5+5=10
sO 5+ 4=
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6+ 4=10
SO 6+ 3=
6+4=10
so 5+ 4 =
7+3=10
sO 7/ + 4=
7+3=10
so 7+2=
54+5=10
sO 5+ 6=

8 + 3 =

Number Sense 1-83

O00O000O 0000
OO00000O OOOX

O00000O 0OOO0O
OO0O00OX OO0O0O

O0O0000O0O 00O
OO000OO00O 0000

7+3=10
sO 6+ 3=

5+5=10
SO 4+ 5=

2+ 9=

8l



Pairs Adding to 20

() Complete the addition sentences.

8+_2 =10 so 8+_12 =20
6+_ =10 so 6+_ =20
3+_ =10 so 3+_ =20
4+_ =10 so 4+ _ = =20
5+ =10 so 15 + = 20
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() Complete the addition sentences.

7+ 3 =10
so 74+ 3 =20

5+ =10
so 5+ = 20
4 + =10
so |4 + = 20
6 + = |0
so |6 + = 20

SO

SO

SO

SO

9+ _ 1 =10
9+ _ 1 =20

2 + =10
12 + = 20
6 + =10
6 + = 20
3+ =10
13 + = 20

. () Complete the addition sentence.

9+ _ Il =20

5+ = 20
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8 + = 20

| + = 20
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Doubles within 20

8is5 + 3 e 00 0 0 O O O
so the double of 8 © 060 0 o O O O
islo+_6 =_16 ®*®®® 000
6is5 + | e 00 0 0 O

so the double of 6 © 0600 o o

i< 10 + _ e 0o 00 0 o
7is5 + 2 e 060 0 0 O O
so the double of 7 © 0600 o O O

i< 10 + _ e 0o 00 0 O O
I0is5 + 5 ® 0 00 OO O OO
so the double of 10 © 0000 OO O O O
i< 10 + _ ®© 0 00 OO0 O O0OO
qis5 + 4 ® 600 0@ O O OO

so the double of 9
is 10 + =

® o
® o
® o
® o
® o
O O
O O
O O
O O
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(J Move up a row to fill in the blank.

0="5+ 7=5+
1[2]3]4]5

q9=5+ 6="5+

() Double the number using 5 and 10.

q=5+ 4
so the double of 9

sl0+ 8 = I8

6 =5+
so the double of 6
is 10 + =

I0 =5 +
so the double of 10
is 10 + =
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7=5+
so the double of 7
is 10 + =

8=5+
so the double of 8
is 10 + =

Il =5+
so the double of Il
is 10 + =
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Using Doubles to Add

() Double and then add I.

e 0o o0 0 4 o 0o 0 3

o o 0 oo +5 o o oo +4

b+ 4+ | = 343+ 1=

o0 000 0 0o 8 0 00000 0|0 q

o000 0 0 0 +7 oooooooo+8

] + 7 + | = 8 +8 + | =
6+6= 5+ 5 =

SO 6+ 7= SO 6+ 5=
74+7= 4+ 4 =

so 7+ 8= sO 5+ 4 =
7+6= 8+9=

5+ 6= 0 +9 =
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(] Solve the problem.

Rani has 8 stickers. Matt has double that number.
How many stickers does Matt have?

Amir is 6 years old. Nina is double Amir’s age.
How old is Nina?

Kim is 5 years old. Glen is double as old as Kim.
Sindi is one year younger than Glen. How old
is Sindi?

Alex picks 9 strawberries. Jin picks double that.
Sally picks one more than Jin. How many does
Sally pick?
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Halves and Quarters

a whole pizza a pizza cut in half

more than half — 9 <~ less than half

(] Write @ if the pizza part is more than half.
) erte if the pizza part is less than half.

@ (g O @
@@ DIND:
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(] Circle the pictures that show a half.

et )=)
0L
=il STl
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Here are 4 ways to fold a square into quarters.

’
S
U

These are not quarters.

i

(] Circle the pictures that show a quarter.

©|0|v|€

T T T T T
1 N 1 1 1 1
1 \\ 1 I | |
1 N 1 1 1
______ o———— - \|\ ] 1 1
N
: L s b
N
1 1 ~ 1 1 1
1 1 > 1 1 1 2
T
o
(8]
w
[3]
o
e
=
o
z
z
<
// \x\\ =
o S N S 2
7 SN
// \‘s 3
\a ~
_____ :;(______ e T IR s
~
// ~\\ ©
~ =
,/ \\\ ______ 5
7 ~ =
= T
c
o
o
(6]
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